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327 + 21252 + 281x + 105

2% + 4x

X+ 8 —2x+ 63

6x” — 36x

X +2x> —19x— 20

Al

X +3x7+5¢+6

X +2x> —31x+28

x> — 20x% + 128x — 256

X =57 +6x—8

X+ 6x° —5x+ 14
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AaSall 3 gaal) 30axia Jul e Jalas

ol

327 + 21252 + 281x + 105
(4x+ 3)(x+ 5)(8x+ 7)

2% + 4x
2x(x+ 2)

X+ 8 —2x+ 63
(x+ 92 —x+7)

6x” — 36x
6x(x — 6)

X +2x> —19x— 20
(x+ 5+ DHx—4)

EEN NG BL

Y+ 3% +5x+6
(x+ 2)(0% +x+ 3)

X +2x> —31x+ 28
x+7x—1)(x—4)

x> — 20x% + 128x — 256
x—8)x—8)(x—4)

X = 5> +6x—8
(x— 402 —x+2)

X+ 6x° —5x+ 14
(x+ 7> —x+2)
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